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QUESTION 1

Scenario 

Refer to the topology. Your company has connected the routers R1. R2. and R3 with serial links. R2 and R3 are
connected to the switches SW1 and SW2, respectively. SW1 and SW2 are also connected to the routers R4 and R5. 

The EIGRP routing protocol is configured. 

You are required to troubleshoot and resolve the EIGRP issues between the various routers. 

Use the appropriate show commands to troubleshoot the issues. 

Study the following output taken on R1: R1# Ping 10.5.5.55 source 10.1.1.1 

Type escape sequence to abort. 

Sending 5.100-byte ICMP Echos to 10.5.5.55, timeout is 2 seconds: 

Packet sent with a source address of 10.1.1.1 

Why are the pings failing? 

A. The network statement is missing on R5. 

B. The loopback interface is shut down on R5. 

C. The network statement is missing on R1. 

D. The IP address that is configured on the Lo1 interface on R5 is incorrect. 
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Correct Answer: C 

R5 does not have a route to the 10.1.1.1 network, which is the loopback0 IP address of R1. When looking at the EIGRP
configuration on R1, we see that the 10.1.1.1 network statement is missing on R1. 

 

QUESTION 2

Refer to the exhibit. 
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When running EIGRP, what is required for RouterA to exchange routing updates with RouterC? 

A. AS numbers must be changed to match on all the routers 

B. Loopback interfaces must be configured so a DR is elected 

C. The no auto-summary command is needed on Router A and Router C 

D. Router B needs to have two network statements, one for each connected network 

Correct Answer: A 

Here we required same autonomous system between router A,B,C.Routing updated always exchange between in same
EIGRP EIGRP autonomous system.you can configure more than one EIGRP autonomous system on the same router.
This is typically done at a redistribution point where two EIGRP autonomous systems are interconnected. Individual
router interfaces should only be included within a single EIGRP autonomous system. Cisco does not recommend
running multiple EIGRP autonomous systems on the same set of interfaces on the router. If multiple EIGRP
autonomous systems are used with multiple points of mutual redistribution, it can cause discrepancies in the EIGRP
topology table if correct filtering is not performed at the redistribution points. If possible, Cisco recommends you
configure only one EIGRP autonomous system in any single autonomous system. 

http://www.cisco.com/en/US/tech/tk365/technologies_tech_note09186a0080093f07.shtml 

 

QUESTION 3

The command show frame-relay map gives the following output: 

Serial 0 (up): ip 192.168.151.4 dlci 122, dynamic, broadcast, status defined, active 

Which statements represent what is shown?(Choose three.) 

A. 192.168.151.4 represents the IP address of the remote router 

B. 192.168.151.4 represents the IP address of the local serial interface 

C. DLCI 122 represents the interface of the remote serial interface 

D. DLCI 122 represents the local number used to connect to the remote address 
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E. broadcast indicates that a dynamic routing protocol such as RIP v1 can send packets across this PVC 

F. active indicates that the ARP process is working 

Correct Answer: ADE 

http://www.cisco.com/en/US/docs/ios/12_2/wan/command/reference/wrffr4.html#wp1029343 

 

QUESTION 4

Refer to the exhibit. 

A network associate has configured OSPF with the command: City(config-router)# network 192.168.12.64 0.0.0.63 area
0 

After completing the configuration, the associate discovers that not all the interfaces are participating in OSPF. Which
three of the interfaces shown in the exhibit will participate in OSPF according to this configuration statement? (Choose
three.) 
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A. FastEthernet0 /0 

B. FastEthernet0 /1 

C. Serial0/0 

D. Serial0/1.102 

E. Serial0/1.103 

F. Serial0/1.104 

Correct Answer: BCD 

The "network 192.168.12.64 0.0.0.63 equals to network 192.168.12.64/26. This network has: 

Increment: 64 (/26= 1111 1111.1111 1111.1111 1111.1100 0000) Network address: 192.168.12.64 Broadcast address:
192.168.12.127 

Therefore all interface in the range of this network will join OSPF - B C D are correct. 

 

QUESTION 5

A network administrator needs to configure a serial link between the main office and a remote location. The router at the
remote office is a non-Cisco router. How should the network administrator configure the serial interface of the main
office router to make the connection? 

A. Main(config)# interface serial 0/0 Main(config-if)# ip address 172.16.1.1 255.255.255.252 Main(config-if)# no shut 

B. Main(config)# interface serial 0/0 Main(config-if)# ip address 172.16.1.1 255.255.255.252 Main(config-if)#
encapsulation ppp Main(config-if)# no shut 

C. Main(config)# interface serial 0/0 Main(config-if)# ip address 172.16.1.1 255.255.255.252 Main(config-if)#
encapsulation frame-relay Main(config-if)# authentication chap Main(config-if)# no shut 

D. Main(config)# interface serial 0/0 Main(config-if)#ip address 172.16.1.1 255.255.255.252 Main(config-
if)#encapsulation ietf Main(config-if)# no shut 

Correct Answer: B 

Cisco High-Level Data Link Controller (HDLC) is the Cisco proprietary protocol for sending data over synchronous serial
links using HDLC. So HDLC runs only in Cisco router. PPP is not proprietary protocol it\\'s a open source every cisco
router and non-cisco router understand the PPP protocol.So we need to configure the PPP protocol if connection is
between cisco and non- cisco router. 
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